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Candidates must write the Code on the
title page of the answer-book.

o HYA SAiH H A foh 30 YT H Hfgd Y8 12 2 |

o THUA H M FU H AR T T HI TR Fl T IWYETH % GE@-J8 T
ford |

o FUA AR fh M IHATTH 29 T F |

o HUAT T T IW TTGAT & A | UgeA, T T SHHTH a9 o |

e T WUA I Ugd % foIu 15 e o1 www fon mn g | - Wt foar gty
T 10.15 & fomam M@ | 10.15 S W 10.30 9 Gk BT hadd IIH-UF I UG
3R 38 AT o GRH o IT-YIEThT T D13 I g1 e |

e Please check that this question paper contains 12 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 29 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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Q=T 3397 :
G) gl @vel & @4t yeT AT & |
(i) U9 I97 & [HEIRT 3% 349 qrgd R 1 §

(iii)  T97 G&IT1 - 3 TUT 15 - 19 371a TLHRIHE 97 &, 5770 J% H7 1 375 8 |
59T Yo &1 I Uk JTaFT H 57 37957 8 |

(iv) To7 G&IT 4- 8 37K 20 - 22 TLHIHE 97 8, [5770 T35 & 3 3% & |
Jed%h &1 I GIHTIT: 60 Isq] & 37fer 787 17 w5y |

(v) I TEIT9 - 10 37K 23 - 25 Y} TLHRIHS 97 &, 15777 I4% & 4 3% & |
e T I GHTE: 70 VI5e] & 37fere 787 8141 =iey |

(vi) 97 G&IT 11-14 3R 26 - 29 FI5 ITIcHS 97 &, 578 I9% & 6 3%
g | Y 7 I GrETa: 100 5] & 3718 787 8147 FifeT |

(vii) I GIET TIT FIIHSF &7 TNRT TIT IIEYTT FT &1 T Iog a7 & SFld
&7 few S Tifw |

General Instructions :
(i) All questions in both the sections are compulsory.
(it)  Marks for questions are indicated against each question.

(iii)) Questions No. 1 - 3 and 15 - 19 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

(iv) Questions No. 4 -8 and 20 - 22 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

(v) Questions No. 9 — 10 and 23 - 25 are also short-answer questions

carrying 4 marks each. Answers to them should normally not exceed
70 words each.

(vi) Questions No. 11 - 14 and 26 - 29 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

(vii) Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.
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wus A
SECTION A

Teh U] hadl g a&gA T YU KA1 7 | A A1 o T awq I had
iRt g, a1 Sl a6 : (TE fashey giw) 1
() W I AR fggerar g

(&) = R A Rawwar 2

(@) SR R A= A IR Rawh Tkt 2

(3) & Rawepar @

A consumer consumes only two goods. If price of one of the goods falls,
the indifference curve : (Choose the correct alternative)

(a)  Shifts upwards

(b)  Shifts downwards

(c) Can shift both upwards or downwards
(d)  Does not shift

Tehen ARMM & 1 AN 8 2 1

What are monotonic preferences ?

If¢ a%q Y 1 hmd # glg 9 a%g X h1 61 Sgdl 7, a1 gHI a&q3T o o= I8
re- g : (WEl faepey gie) 1
(31)  wfcaeardt

@ T
(@) ot &8
(3) U A1 HIT H TH Tt

If with the rise in price of good Y, demand for good X rises, the two goods
are : (Choose the correct alternative)

(a)  Substitutes

(b) Complements

(c) Not related

(d)  Jointly demanded

3 P.T.O.
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4. qfd I HWd A o WYk I IS GH-19% (plus sign) HT T H [T I
HId A= & T19 & T FK-[FF (minus sign) N ST BT 8 ? THATST | 3

Why is minus sign attached to the measure of price elasticity of demand
of a normal good in comparison to the plus sign attached to the measure
of price elasticity of supply ? Explain.

5. SNV SdId gU, MG Tl W SATHETNG 3ca1GA GHTEAT 56 o 3R T

fewuft ‘qﬁﬁm : 3
T X (315) TE Y (3519
0 20
1 18
2 14
3 8
4 0

Giving reason, comment on the shape of Production Possibilities Curve

based on the following table :

Good X (units) Good Y (units)
20
18
14
8
0

~ W N[~ O

6. ‘gd faren STl o1 YR 31euaEdT % IcqTed GWIEHT Ik I 1 YHIE

ST IR AT 2
e
A | §¢ T T foeft I5ft o o & IcuTe |AuTaHT Jsh W T THTE qeq hi
YT & 3 =7 2 3
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What will be the impact of “Education for All campaign” (Sarv Shiksha
Abhiyan) on the Production Possibilities Curve of the Indian economy
and why ?

OR

What will likely be the impact of large scale inflow of foreign capital in
India on Production Possibilities Curve and why ?

7. 3feray dma fegier @ @ Ay g 2 g 39 fhe Jeer shi aeget
TR ST 8 2 @I 1 ITAN HIfT | 3

What is maximum price ceiling ? On what type of goods is it normally
imposed ? Use diagram.

Fig:  [HEciRad guT FacT GIvE ahemidEar & g v G 7 & 9 WE |

Note : The following question is for the Blind Candidates only in lieu of
Q. No. 7.

rf¥repan hmd feio it =an fma i & = 7@ gusmsy | 3

Explain the difference between maximum price ceiling and minimum
price ceiling.

8.  UshIiUehNIcHeh UiqAaT # Icure fave faxisar <1 Aew gx=msy | 3

Explain the significance of the feature ‘product differentiation’ in
monopolistic competition.

9. ITYfd ¥ FA AN B ? Toheichl TG T Th & bl YA W IS4 arall

JHTE GHEATT |

arera
qfd @ 9fEas & F1 AT B 2 Tk avg W B M T 3Teh! Ifd T T8
AT THTE FHEAST | 4

What is supply ? Explain the effect of technological progress on supply of
a good.

OR

What is ‘change in supply’ ? Explain the effect of tax imposed on a good
on the supply of the good.

58/2/2 5 P.T.O.
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10. U JUNIAI U a&q W, & hma T 5 Ifd 31 8, T 200 T @l g |
e hid 20 Ifawd R St 8, @1 ot 98 T 200 € =99 AT 8 | gt fafy
R {iT bl hiAd A 19 I | 4

A consumer spends ¥ 200 on a good priced at ¥ 5 per unit. When the
price falls by 20 percent, he continues to spend ¥ 200. Find the price
elasticity of demand by percentage method.

11. T 9% 1 SR TqeH § 7 | 9%g i gfd § FH ATt g | 39 gfaad &
HR0T B AT THTE] <hl @l FHST | 6

Market for a good is in equilibrium. Supply of the good ‘decreases’.
Explain the chain of effects of this change.

12. T 3IUIGh hl Tt ohl Il o IS TohIER THATET | 6

Explain the rationale behind the conditions of equilibrium of a producer.

13. Uiadl IguTal & 7| &% $ot 3cared & we H fafim =wor sarsu | s =
& 1o SR o R | @ w1 i | 6

What are the different phases in the Law of Variable Proportions in
terms of Total Product ? Give reasons behind each phase. Use diagram.

Fig:  HEIRad geT FacT GIPET ahemidEr & g IvT G&7 13 % T W8

Note : The following question is for the Blind Candidates only in lieu of
Q. No. 13.

T GEATCH 3aTeWU hl eIl € IRadi AJardl < I o FA 3cq1ed b
ey # fafie =wor 9qmst | Iess =r o i o o S | 6

State, on the basis of numerical example, the different phases in the
Law of Variable Proportions in terms of Total Product. Give reasons
behind each phase.

14. TH 3UMIHT hadd g Sgeil 1 UM Al 8, T I HhiTd Th &9 i
TS 8 | FMG IUWIH QI Il 1 LHT §ANT A1 3 &bl &imra gfaemm
T 2, A 1 IYHIHN Hgod H § ? HRUl Afe | wwegmse U feufa § we
et IuwIeRT o= S |

HAAT
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Teh IUYRAT had &l aegali X 3R Y w1 IU9NT ial 8, eh! Hhidd hue:
T 2 3N T 19 318 8 | ARG IUMRT A1 It <1 Ud | gar ® e
X 61 it ITNfirar 4 3t Y 1 off 4 8, A1 01 IU9RAT Sgad | ® 2 RO
A | guemse vH feufa § e fodehl sudihRr s wum | de S
fergetwor w1 39T Hif | 6

A consumer consumes only two goods, each priced at Rupee one per unit.
If the consumer chooses a combination of the two goods with Marginal
Rate of Substitution equal to 2, is the consumer in equilibrium ? Give
reasons. Explain what will a rational consumer do in this situation.

OR

A consumer consumes only two goods X and Y whose prices are ¥ 2 and

¥ 1 per unit respectively. If the consumer chooses a combination of the
two goods with marginal utility of X being 4 and that of Y also being 4, is
the consumer in equilibrium ? Give reasons. Explain what will a rational
consumer do in this situation. Use Marginal Utility Analysis.

©us o
SECTION B
15. TR g9 § TTfHeh H1eT 389 sk 8 : (& ey giin) 1
(31) =S YA
(¥) =S Yrae — 349N

)
(¥) SUR — IS YIdH
() ST H ¥ g T8l

Primary deficit in a government budget equals : (Choose the correct

alternative)

(a) Interest payments

(b)  Interest payments less borrowings
(c) Borrowings less interest payments

(d) None of the above

58/2/2 7 P.T.O.
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16. “GHU I % g < "h ddTsU | 1

Name any two components of ‘aggregate demand’.

17. 3 € 34T Ygd = 0, T[0T I qod I8 BT : (Fa! fasheq ) 1
(31) 0
@ 1
(@) 03M 1% =
(3) W=

If MPC = 0, the value of multiplier is : (Choose the correct alternative)
(a) O

(b) 1

(c) Between 0 and 1

(d) Infinity

18. 31 9d q@ad & W & faesht gg1 a&dt gl g, a1 P 3 W Ig 94
U+ i GUTEAT B : (Fd fashew g 1

() HhNRIcHS

() hRIcHsh
(B) TIIcHS d ThNIHS gl
(3) I3 99 T

Other things remaining the same, when foreign currency becomes
cheaper, the effect on national income is likely to be : (Choose the correct

alternative)

(a)  Positive

(b)  Negative

(c) Positive and negative both

(d) No effect

58/2/2 8
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19. T ¥ SHH-G1 Tod =3 8 2 1
(1) W @l
(¥) SgR M
(m) i Tgra
(3) o R W

Which one of these is a revenue expenditure ?
(a)  Purchase of shares

(b)  Loans advanced

(c) Subsidies

(d) Expenditure on acquisition of land

20. AU SATd §T HHSATSY fob TAH Fda i@l § foe@i =i fean T g el &t
[ERISIGIE 3

Giving reasons explain where charity to foreign countries is recorded in
the Balance of Payments Accounts.

21. Jfc IrEdfaes Hehel QI IS T 200 B TR Hifgeh Hebed <M 3cU1e T 210
&1, Tl hIAd FIhh (IR = 100) T THehe hHIT | 3

If the Real Gross Domestic Product is ¥ 200 and the Nominal Gross
Domestic Product is ¥ 210, calculate the Price Index (base = 100).

22, YAH Hgad o@ § W@RA (W) oFed IR URiSH g oFed W 31

ERIELN
HAAT

PIAH FqeH @l § SR T R TMe] Tra1 dge o 319 Famsy | 3
Give the meanings of ‘autonomous’ transactions and ‘accommodating’
transactions in the Balance of Payments Accounts.

OR

Give the meanings of Balance of Trade and Balance on Current Account
of Balance of Payments Accounts.

58/2/2 9 P.T.O.
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23.

24.

25.

26.

58/2/2

Teh e AdeH | 7 | FefaRea @ few == 3 i 4
T 3T = 750

TR U9 = 200
Hird s=d 9 = 0-4

An economy is in equilibrium. Find the Investment Expenditure from
the following :

National Income = 750
Autonomous Consumption = 200

Marginal Propensity to Save = 0-4

Hld S 1 ‘GHR HT 9ok HE THATST |
FuaT

g Sfeh T ‘el T S’ I THATT | 4
Explain ‘Government’s Bank’ function of the central bank.

OR

Explain ‘Bankers’ Bank’ function of the central bank.

BH UET 1 had @ [oh ATV Soh g1 1 Foid hid & Sd(ch gH I8 W had &
for it I S T THAT ATIBR Hegd deh bl & ? THSST | VST Sehi
TR0 HgT G o1 TP AT T T YHE T8 hl GHEAT § 2 4

Why do we say that commercial banks create money while we also say
that the central bank has the sole right to issue currency ? Explain.
What is the likely impact of money creation by the commercial banks on

national income ?

THIfTeRRT 3R STIEhIfahil SR § TS H Tehi] S1e ohl YfHehT THeST | 6

Explain the role of government budget in fighting inflationary and

deflationary tendencies.

10
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27. RO §dd gC GHEATSE o T 3T 1 SAE ad sy Hefafad % @y
ERIRCLIERIRSICIRC] Fi 6

(1) T % g T R PAE

(i) T HREH R T 399 & foIu w=i @le

(iii) e Tafercamer™ grr @1 o foe e @lie

Giving reasons explain how should the following be treated in
estimation of national income :

1) Payment of corporate tax by a firm

(ii)  Purchase of machinery by a factory for own use

(iii)  Purchase of uniforms for nurses by a hospital

28. ‘whifashrl a0 © a1 MU 2 ? JfErd Aepal FlY 1T hi 39 ST Bl R
*H T gfter arETET |

HAAAT

‘STl AT E R AT B ? 39 A hl QR H A wrerell st
I yfHeRT FHSST | 6

What is ‘inflationary gap’ ? Explain the role of Cash Reserve Ratio in

removing this gap.
OR

What is ‘deficient demand’ ? Explain the role of ‘Margin Requirements’

in removing this gap.
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29. UY1K S ey ufepfara dhifse 6
(T #3)
i) Traa smma 5
(i) T i GG et 15
(i) JARFH I 90
(v) TEH RO T &S 10
(v) Tm e 25
(vi) ETHEI ATaH 39T = 20
(vii) TocEm =1 faa e 3™ -)5
(viii) Tieet 3Tcaer 10
(ix) Afaafia 0
(x) Toft ifom suw == 100

Calculate National Income and Private Income :

(¥ crores)
(1) Net imports 5
(ii))  Net domestic capital formation 15
(ii1) Personal income 90
(iv)  National debt interest 10
(v)  Corporate tax 25
(vi)  Government final consumption expenditure 20
(vii) Net factor income to abroad (-)5
(viii) Net indirect tax 10
(ix)  Undistributed profits 0
(x) Private final consumption expenditure 100
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